Ol &F A

Al A

2A: A4
Y 5l FUIAIY (SEHLrL/SY - 5E)
s ofd HHIA (SH9 H2)
M- SA(3) - MRAY - BES Ofl &kl I & A Hlns
A4 43,041,040 29,995, 143 13,045,897
=2 4,59%,000 0 4,596,000
Xl 5,435,000 5,435,000 0
[ 2,410,200 778,000 1,632,200
= 30,599,840 23,782,143 6,817,697
SIE MUIANY (sSElLsd/s2 - SE) 3,575,406 5,462,822 N1,887,416
(= 61,000 0 61,000
2 3,514,406 5,462,822 ~1,948,416
5l& HHIAY 3,575,406 5,462,822 ~1,887,416
[ 61,000 0 61,000
2 3,514,406 5,462,822 ~1,948,416
26tA HUIAI (B EHALR) 3,499,322 5,449,322 A 1,950,000
401 AlEHIZ 2 0HY] 3,499,322 5,449,322 1,950,000
01 Al&HI 3,499,322 5,449,322 1,950,000
OE/\I- )\o|.x-{ X-It”}\}
A& 1,100,000,000 174 2 1,100,000 1,500,000 400,000
O20R ABHE HHIALS
Z2E 600,000,000 170 2 600,000 1,000,000 400,000
ODH A5t HHIA
ZE 950,000,000 174 £ 950,000 1,300,000 350,000
OdF A0td JHIAIY
AE 849,322,000 x104 2 849,322 1,649,322 800,000
Xgotd szl 74,500 13,500 61,000
(= 61,000 0 61,000
= 13,500 13,500 0
401 AlEHI L 2] 61,000 0 61,000
(= 61,000 0 61,000
01 Al&HI 61,000 0 61,000
OSwHE(XItA) SA 2l (HA)
61,000,000 % 1JH A 61,000 0 61,000
(= 61,000 0 61,000
A5t FHIAFS (XEAI) 1,584 0 1,584
201 LeE Y| 1,584 0 1,584
2 22294| 1,584 0 1,584
Oxotd ADEAHSI| 24 SE =
66,0002+ 12JH 2 200 A 1,584 0 1,584
EINE 22 (sHHAT /S - 55) 370,200 300,000 70,200
[ 70,200 0 70,200
= 300,000 300,000 0
ENE 22 370,200 300,000 70,200
(= 70,200 0 70,200
= 300,000 300,000 0
ol EINE FH(2EX) 70,200 0 70,200
(= 70,200 0 70,200




A AR
Hy: gNE Zel(sHHY

ol ERE 2

SA - B S9(SH) - NIRAY - BES o &r o - HIDS2
401 AIEHIL S THY] 70,200 0 70,200
= 70,200 0 70,200
01 Al 70,200 70,200
O4DAE SNE Z& U F2 HH(LYH)
70,200, 00024174 2 70,200 0 70,200
= 70,200 0 70,200
THOH 2 THCHOIEH (ZDE AL OHR /T T - D12 8,492,038 8,492,038 0
X 5,435,000 5,435,000 0
= 540,000 540,000 0
2 2,517,038 2,517,038 0
NEEEEIETT 8,483,168 8,483, 168 0
X 5,435,000 5,435,000 0
< 540,000 540,000 0
2 2,508, 168 2,508, 168 0
THOHPI B4 H & X1 7 HIALES 7,250,000 7,250,000 0
X 5,335,000 5,335,000 0
= 530,000 530,000 0
2 1,385,000 1,385,000 0
401 A&BIL=ThY| 7,250,000 7,250,000 0
X 5,335,000 5,335,000 0
= 530,000 530,000 0
2 1,385,000 1,385,000 0
01 Al 7,250,000 7,250,000 0
OADIE HEBRINAY DEAR(BOHA)
A 70,000,0002* 1744 70,000 70,000 0
X 3,000 35,000 0
2 3,000 35,000 0
A% FENL(DELSF/E2) 8,665,793 5,210,333 3,455,460
= 150,000 168,000 8,000
= 8,515,793 5,052,333 3,463,460
N (22) = 8,065,480 4,610,000 3,455,480
2C SXBH(XH) 3,230,480 1,880,000 1,350,480
201 Yur2 | 480 0 480
2 ZZ2) 480 0 480
OSSMARE, BS) JI4TBE HY 2
3 40,0021+ 12742 480 0 480
401 AIEHI LS TH| 3,230,000 1,880,000 1,350,000
01 Al 3,230,000 1,880,000 1,350,000
OLBE2 HMDD|
2% 200,000,002 10k 2,000,000 1,000,000 1,000,000
ONSH ZIHEY PEHE +8 B X
A 8 350,000,002 350,000 0 350,000
2C FUIA(XH) 4,385,000 2,730,000 1,655,000
401 Al&2HIZ S THY] 4,385,000 2,730,000 1,655,000




SN 2
M XY FENL(DELER/ER)
¢ Mg (2%)E (SH &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
01 AlIEHI 4,385,000 2,730,000 1,655,000
OZSNSH(AILYUA) REEZ FHl=
At Z& 150,000,000 *1JH 2 150,000 100,000 50,000
O(F)YRW(SIIBE) ML AS
Z & 150,000,000 *1JH 2 150,000 100,000 50,000
OXEHAMRAL =H E2E SHIA BHY
EX 243 200,000,000& 200,000 0 200,000
OIS TYR IHEAIY
150,000,000& 150,000 0 150,000
Ol =XA8AN & 44 &2 FUIAML
200,000,000& 200,000 0 200,000
Og3 ZH0IE == SH3A
20,000,000& 20,000 0 20,000
OdEsS AEYIN WXE ZHIAIY
100,000,000& 100,000 0 100,000
O24 S 3L EZA
100,000,000& 100,000 0 100,000
Og3H Atdel == WE ALY
85,000,000& 85,000 0 85,000
E2=Z(EI0IE~M0I0IE) BXY &
HIAHS Z & 1,000,000,0002 170 2 1,000,000 300,000 700,000
SAF SUASAS ZHISA 400,000 0 400,000
401 AIEHIZ 2018 400,000 0 400,000
01 Al&Hl 400,000 0 400,000
O2A SUAZAIH FHISAH(23E SAl)
400,000,000& 400,000 0 400,000
23| Afote] THolEE=2 EHIAMS 50,000 0 50,000
401 AlIEHIZL 2 0HY| 50,000 0 50,000
01 AIZHI 50,000 0 50,000
US| ARtE| THOHRIEEE HHIAIZ('23
H SHAFNEZ) 50,000,000& 50,000 0 50,000
Nge sX2el 600,313 600,333 A20
= 150,000 158,000 A8,000
i 450,313 442,333 7,980
e 7X2el 22| 387,133 379,153 7,980
201 2Eer23 ] 131,633 123,653 7,980
01 ArR2eltl 20,100 12,120 7,980
OZ2=2=+ AR HHEF 7
95,0003 x7E =121 2 7,980 0 7,980
e =23 o1AH| 150,000 158,000 A8,000
= 150,000 158,000 28,000
101 Q124H| 150,000 158,000 A8,000
= 150,000 158,000 A8,000
03 BRA(RIAHL) 222 150,000 158,000 A8,000
OXNgE =2& 24|
&3 150,000,000 150,000 158,000 28,000
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SN AL
I Y BEHL(RELSR/T2)
el XN =72 EER=E)
SN - B G(EA) - NIRAY - BES 0l & ol E o HlRE2
| 1] & 150,000 158,000 8,000
X% DHLH(SHLSN /5 - 58) 12,296, 177 4,162,177 8,134,000
= 4,596,000 0 4,596,000
= 1,569,000 80,000 1,509,000
= 6,111,177 4,082,177 2,029,000
saae 1,877,177 1,657,177 220,000
= 20,000 0 20,000
= 1,857,177 1,657,177 200,000
2= 22 381,537 361,537 20,000
= 20,000 0 20,000
2 361,537 361,537 0
401 Al HIL O 120,000 100,000 20,000
2 20,000 0 20,000
= 100,000 100,000 0
01 Al&H 120,000 100,000 20,000
O204E & FHEEXZ2IH 2 (2URT)
10,000,0002 10,000 10,000
= 10,000 10,000
O204E & FHEXZ2IH 2 (ZHXT)
10,000,002 10,000 0 10,000
= 10,000 0 10,000
S| HHAE 22 1,088,970 833,970 200,000
401 Al HIL O 850,000 650,000 200,000
01 Al&H 850,000 650,000 200,000
OM+X HI&UHNE +8 8
50,000,000 ¥4} 2 200,000 0 200,000
s20I8 "y 10,419,000 2,505,000 7,914,000
= 4,576,000 0 4,576,000
= 1,569,000 80,000 1,509,000
2 4,254,000 2,425,000 1,829,000
A2 SAI|E FH|(2X) 690,000 0 690,000
= 560,000 0 560,000
= 130,000 0 130,000
401 Al HIL R CHYI 690,000 0 690,000
= 560,000 0 560,000
= 130,000 0 130,000
01 Al 690,000 0 690,000
OXTZ ZUE SHAXIP ti42 HHIAI(
HE) 30,000,008 30,000 0 30,000
= 30,000 0 30,000
OXEZ MM BZAXT 42 L 4=
AR (SEIH) 30,000,000 30,000 30,000
= 30,000 30,000




A AL
M XY U (sl s - 55)
ol sgoler F EER=E)
SA - BB - SA(S) - MRAY - BES 0l Aro ol E o timE=FT
O H=S HEXT == FHIAF(
HgH) 30,000,000& 30,000 30,000
< 30,000 30,000
OXEZ 3|H FPEXF =2 HHIA
(dgd) 30,000,000& 30,000 30,000
< 30,000 30,000
OXEZ XA JIERT s2EEAI(H
gd) 30,000,000 30,000 30,000
< 30,000 30,000
OXEZ g AT =2 HHIAF(
HglH) 30,000,000& 30,000 30,000
< 30,000 30,000
O KAH AT Hia=2 FHIAFS(
Sgd) 30,000,000& 30,000 30,000
< 30,000 30,000
OXEZ X&H HEMITXIZ Bi=== ZHIA(
Sgd) 30,000,000& 30,000 30,000
[ 30,000 30,000
OXEZ KMH 42X+ === FHIAF(
Sgd) 30,000,000 30,000 30,000
[ 30,000 30,000
Oxlez XH YR X B2 ZHIAL
d(8gd) 30,000,000 30,000 30,000
< 30,000 30,000
O KAH X7 =2 FHIAR(
Sgd) 20,000,000& 20,000 20,000
< 20,000 20,000
OXEF XAH HEM2KI 7 th==2 FHIAS(
HSgd) 30,000,000 30,000 30,000
< 30,000 30,000
OTEZ XM AUST T SZEFA(
HSgA) 30,000,000 30,000 30,000
< 30,000 30,000
OTEZ XM HURX T sZEZFA(
HgA) 70,000,000& 70,000 70,000
< 70,000 70,000
O DM UWsSXT B2 FHIAR(
HgA) 20,000,000& 20,000 20,000
< 20,000 20,000
OXEF 23 MHEX7? 2E ZEIZAH(Y
gd) 30,000,000& 30,000 30,000
< 30,000 30,000
O&le=z K& QIXIXI7 OtS2l2 AlEH
At (dEd 30,000,000 30,000 30,000
< 30,000 30,000
OXEZ oA HEXNT &2E EZIAHL
gd) 30,000,000 30,000 30,000
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A AL
M XY U (sl s - 55)
ol sgoler F EER=E)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
[ 30,000 0 30,000
OXEF ES SAXT ASMH(BE £
EESSSIME =) 30,000,000 30,000 0 30,000
OXEF K(H ATZX P sZEEAIA (23
H SYEXIHNEI) 30,000,000& 30,000 0 30,000
OTEZ XA 22X 7 s2EHAI('23
H SEXFNEI) 30,000,000 30,000 0 30,000
OXEZ XMH QXX7 SHLEX & 52
ZEANH(23E SEXFNEI)
40,000,000& 40,000 0 40,000
=CIAIE HE AL (M EALY) 100,000 50,000 50,000
< 80,000 40,000 40,000
= 20,000 10,000 10,000
401 AlEBIYL S CHYI 100,000 50,000 50,000
< 80,000 40,000 40,000
= 20,000 10,000 10,000
01 Al&HI 100,000 50,000 50,000
OZFX7 ==elAld HEFAY
50,000,000& 50,000 0 50,000
< 40,000 0 40,000
= 10,000 0 10,000
=ot2el AN HEArY 828,000 0 828,000
= 828,000 0 828,000
401 AlEHIYL 2 THYI 828,000 0 828,000
= 828,000 0 828,000
01 Al£ZHI 828,000 0 828,000
O X7 SIt2eSER HESAL
828,000,000 828,000 0 828,000
= 828,000 0 828,000
H==OH & AL (2 LRI ) 2,350,000 0 2,350,000
= 2,350,000 0 2,350,000
401 AlZBIL STy 2,350,000 0 2,350,000
= 2,350,000 0 2,350,000
01 Al&HI 2,350,000 0 2,350,000
O LHXI 7 B =IH & AL
2,350,000,000& 2,350,000 0 2,350,000
= 2,350,000 0 2,350,000
Xgtare] 2X2H HEFA(EXX) 2,597,000 0 2,597,000
= 1,298,000 0 1,298,000
[ 260,000 0 260,000
= 1,039,000 0 1,039,000
401 AlEBIYL S CHYI 2,597,000 0 2,597,000
= 1,298,000 0 1,298,000
(= 260,000 0 260,000
s 1,039,000 0 1,039,000

»
|




A AL
M XY U (sl s - 55)
ol sgoler F EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
01 AlZHI 2,597,000 0 2,597,000
OEEX 7 XL HESAL
2,597,000,000& 2,597,000 0 2,597,000
= 1,298,000 0 1,298,000
[ 260,000 0 260,000
= 1,039,000 0 1,039,000
2B HIAI (HEXI7) (B & AFY) 599,000 0 599,000
< 539,000 0 539,000
= 60,000 0 60,000
401 AlEHIYL S THYI 599,000 0 599,000
< 539,000 0 539,000
= 60,000 0 60,000
01 Al&HI 599,000 0 599,000
OUE X7 €218 HHIAHY
599,000,000 599,000 0 599,000
[ 539,000 0 539,000
= 60,000 0 60,000
2B HIAIS (SEXIF) 100,000 0 100,000
< 90,000 0 90,000
= 10,000 0 10,000
401 AlEHIYL L THYI 100,000 0 100,000
< 90,000 0 90,000
= 10,000 0 10,000
01 Al&ZHI 100,000 0 100,000
O=EX+ &JI8 ZHIAY
100,000,000 100,000 0 100,000
[ 90,000 0 90,000
T 10,000 0 10,000
Xghate| gERR HE AR (22X ) 200,000 0 200,000
= 100,000 0 100,000
= 20,000 0 20,000
s 80,000 0 80,000
401 AlZBIL LY 200,000 0 200,000
= 100,000 0 100,000
< 20,000 0 20,000
= 80,000 0 80,000
01 Al&ZHI 200,000 0 200,000
OZ3X7 XS HESA
200,000,000 200,000 0 200,000
= 100,000 0 100,000
< 20,000 0 20,000
o 80,000 0 80,000
SII2H0ll CHEH CHRHALEHI(BF 2 HES AL 500,000 0 500,000
403 TR M SAH=01H 500,000 0 500,000




A AL
M XY U (sl s - 55)
ol sgoler F EER=E)
SA - FE - SRA(3H) - MRAE - BES Off &4 I8N Hws2
02 S 2S0It etk = & P EF A I 500,000 0 500,000
OOl & =SAIEES B
500,000,000 500,000 0 500,000
N 2 TADHE (sEaigdd/s2 - &) 9,270,230 6,021,230 3,249,000
KIS IHE ALY 9,270,230 6,021,230 3,249,000
OIS ERIHE ALY 9,270,230 6,021,230 3,249,000
401 Al&BIL LY 9,265,230 6,016,230 3,249,000
01 AlEZHI 9,252,000 6,003,000 3,249,000
O2dH A2l sZEEIA
3d 03 0 30,000 30,000
O2alH 2N SZ2EIEF+SA
34 02 0 20,000 A20,000
O2al grde| 0ot B4 & SHEIA
33 o0& 0 25,000 A25,000
OQdlH =42 sZ2E4+3A
34 03 0 25,000 225,000
OQalH 2rde| =2 SUHBA
2AX™ 0 0 30,000 A30,000
O2ale grde| &2 S3RZA
38 02 0 35,000 A35,000
O94lH Z2cl oSt ZEITAL
3d 03 0 30,000 A30,000
OQaH =Xl =2 ZHISA
34 02 0 30,000 230,000
O2ilet o=e| =2 SUHSA
328 0& 0 25,000 225,000
O21alH Alotel == EHBISA
3& 03 0 30,000 /30,000
O2aH gt=2l =2 ZHISA
30,000,000 30,000 0 30,000
O2aIH Hatg] C2HE U SHIA}
20,000,000& 20,000 0 20,000
O2alH AH==2| HAHSA
25,000,000 25,000 0 25,000
OQaH ASel === HAHSAL
30,000,000 30,000 0 30,000
O2alH el =2 HAHSA
35,000,000 35,000 0 35,000
OQalH S| HHEHIZA
30,000,000 30,000 0 30,000
OLa =Hel =2 HASAL
30,000,000 30,000 0 30,000
O2aIH 202l HASA
25,000,000& 25,000 0 25,000
O2alH =XIel =2 2+=3At
30,000,000 30,000 0 30,000
OXetH 2=2] =2 ZHISA
25,000,000 25,000 0 25,000
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A AR

2 I|;. 2 TADHE (sENSSN/ s - s5)
ol N<SIHEArS (SH &)
A - 3 - S2A(FH) - MRAY - BES 04| AkeH J 3 N Hnsz2

25,000, 0002 25,000 0 25,000
OFES 22| CRHUFBAl
15,000, 0002 15,000 0 15,000
OGS HB2l BAX SHLBA
35,000,0002! 3,000 0 3,000
ONEE mie| ST SHETIZA
55,000, 0002 55,000 55,000
Bi%2 HH2A
25,000,0002! 25,000 25,000
Bi%2 HH2A
30,000,0002! 30,000 30,000
=2 JHHSAL
30,000,000 30,000 30,000
SREEIN
25,000,0002! 25,000 25,000
02 OIAREEBAL
60,000,0002! 60,000 60,000
SIBAR! FHIZA
30,000,000 30,000 30,000
SREEIN
20,000,002 30,000 30,000
B2 FUISA
40,000,0002! 40,000 40,000
S FX2 JPABA
20,000, 0002 20,000 20,000
20t2 AKX SUIA
20,000,0002! 20,000 20,000
S20t2 SOIBA
20,000,0002! 20,000 20,000
ERUES T EIN,
20,000, 0002 20,000 20,000
S S3X SHEA
20,000,0002! 20,000 20,000
S S3X SHEA
20,000,0002! 20,000 20,000
S SBY SXTA
20,000, 0002 20,000 20,000
HEOtS SAX SH2A
20,000, 0002 20,000 20,000
IS AN EHTA
20,000,0002! 20,000 20,000
+0t2 SN HAEZZHIBA
20,000, 0002 20,000 20,000
IS O1ETIIY EXIBA
20,000, 0002 20,000 20,000
4S0t2 ZRETZA
20,000,0002! 20,000 20,000




SN ALD

=
M N9 2 TADHE (sEuidsd/s - &)
Rl XIS IHEALS (SH9 H2)

- SHRABA) - HRAY - BES

OHEf0tE SR HHSA

20,000, 0002
2012] PHELIZA

25,000,002
CHALZI 42 & XIZA

35,000,0002!
222 W42 IHIZA

30,000,000
LHSael S2EHTA

20,000,002
St Bi4+E FHIBA

30,000,0002!
PN LTI T

30,000,000
NS2l QUSEZTA

20,000,002
SM0IE SN SHUBA

20,000,0002!
CIAIE SAX SREETA

20,000, 0002
NEDIE 53X 42 ZUIBA

20,000,0002!
SHOIZ 012 22 JHIBA

20,000,0002!
HII0LS OIS 0r2 BHIBA

20,000, 0002
SIS 5K HHSBA

20,000,0002!
ZH0IS BT HALKIZA

20,000,0002!
220l 2USstn 22080/
r 20,000, 0002
HSA0E ST 42 2AF

20,000,0002!
2SS0 53X HAZBA

20,000,0002!
Wl H+E ZA

25,000, 0002
QUAI B2 A

20,000,0002!
ABi2| DH2OIZ SHEITA

25,000,0002!
AZe| B2 TA

40,000, 0002
T2l 942 OlAZEEBAL

20,000, 0002
NEIREEEPE=IY

30,000,0002!

20,000

25,000

35,000

30,000

30,000

30,000

30,000

30,000

20,000

20,000

20,000

20,000

20,000

20,000

20,000

20,000

20,000

20,000

25,000

30,000

25,000

40,000

20,000

30,000

20,000

25,000

35,000

30,000

30,000

30,000

30,000

30,000

20,000

20,000

20,000

20,000

20,000

20,000

20,000

20,000

20,000

20,000

25,000

30,000

25,000

40,000

20,000

30,000
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A AL

3 Ilz 2L SANE (SRS s - &)
St RIGHE AL (Crel ® )
SA B SA(BH) - KISAY - BAS ofl & o & o D=2
On=H ZALE| =2 ZHIZA
30,000,000& 30,000 30,000
S0l Otsetd ZERIZAL
75,000,000 75,000 75,000
AL =S At
20,000,000 20,000 20,000
otEits IHHSA
20,000,000& 20,000 20,000
OratOrS A
20,000,000 20,000 20,000
QA0S SEEYSAM
20,000,000 20,000 20,000
SEls === HUIS At
20,000,000& 20,000 20,000
Xetors SYHIA
20,000,000 20,000 20,000
A HHSA
20,000,000 20,000 20,000
23 SZEHSA
20,000,000& 20,000 20,000
LHAHONS HAHSAL
20,000,000 20,000 20,000
Xetors HHSA
20,000,000 20,000 20,000
Xaors SZZXHSA
20,000,000& 20,000 20,000
gkne| Z SIHSAt
20,000,000 20,000 20,000
=B =2 ZHISA
20,000,000 20,000 20,000
EE=Tll 2 AXISA
20,000,000& 20,000 20,000
=2l 2 AXSA
20,000,000 20,000 20,000
O2itH EZ2| =2 FHIZA
20,000,000 20,000 0 20,000
QoA AMe| =2 LI A}
20,000,000& 20,000 0 20,000
O9AIH AMAZ| JIEHIY AXIZ2A
10,000,000& 10,000 0 10,000
O9rlH B2 s EYESA}
20,000,000 20,000 20,000
22l HAHEXIZAL
20,000,000& 20,000 20,000
AEel =2 ZUISA
20,000,000 20,000 20,000
ZAt2] =2 HHISAt
20,000,000 20,000 20,000
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A A4
& XY & SAHY (sl S/ s - &)
Sl XIS AL (Crel ® )
SA B SA(BH) - KISAY - BAS ofl & o & o D=2
O2olalH =XI2| =HEUIAIY
20,000,000& 20,000 20,000
=Sl s2 SEESA
40,000,000 40,000 40,000
C20IS s3X s2EE2A
20,000,000 20,000 20,000
HZ0IS 0t=20t2 FHISA
20,000,000& 20,000 20,000
gl SZ2EESA
40,000,000 40,000 40,000
OYUs|H NHE| s2EEZA
50,000,000 50,000 0 50,000
OYslH =2X2| =2 ZHIZA
35,000,000& 35,000 0 35,000
Oz 4| =2 SEESA
20,000,000 20,000 0 20,000
OYslH 952 s34 sZ2EEIA
20,000,000 20,000 0 20,000
OgslH Hue| =2 ZHIZA
35,000,000& 35,000 0 35,000
Oz 572 sZEEIAt
30,000,000& 30,000 0 30,000
OLUS|H HEL| S2EEZAL
30,000,000 30,000 0 30,000
O3 guel =2 EUISA
40,000,000& 40,000 0 40,000
O3 A0S 0202 HHISAH
20,000,000 20,000 0 20,000
OXatH 22e| =2 ZUISA
35,000,000 35,000 35,000
=2 JHHZAH
30,000,000& 30,000 30,000
=2 AHISAH
40,000,000 40,000 40,000
=2 AHISA
35,000,000 35,000 35,000
=2 HHISA
25,000,000& 25,000 25,000
Or2 LA T AL
20,000,000 20,000 20,000
ot OIAZEEZA
20,000,000& 20,000 20,000
SZ2EF ZHISA
15,000,000& 15,000 15,000
HUR0IE s2LEESA
30,000,000& 30,000 30,000
IS S2EEABA
30,000,000 30,000 30,000

_12_




A A4
& XY & SAHY (sl S/ s - &)
Sl XIS AL (EEEE))
24 - 38 . 4A(3H]) - HIRAIY - BHES 04| AkeH J 3 N Hlus2
OXI&HH LHAE0E Z2E2 ZEHIA
20,000,000& 20,000 0 20,000
OXitH H20ts =2 X sZEZESAH
20,000,000& 20,000 0 20,000
OX4tH SH0tE =3 X ZEIAL
20,000,000 20,000 0 20,000
OXaH ZE0IE ST EESA
20,000,000& 20,000 0 20,000
OX4tH 2202 SQE LE3AL
20,000,000 20,000 0 20,000
OX&HH ATOtE =3 X SU3A
20,000,000 20,000 0 20,000
OX&H OIXDIE S EEISAL
10,000,000& 10,000 0 10,000
OxcH 72l =2 HUISA
25,000,000 25,000 0 25,000
OxXEH 2| 38 AXSA
35,000,000& 35,000 0 35,000
OXEH SH2l sZ2EEBA
22,000,000& 22,000 0 22,000
OXEH &2 = ZESAM
25,000,000 25,000 0 25,000
Ox&H REL| =2 ZUISA
50,000,000 50,000 0 50,000
OXEH REZ| 24D AIESA
52,000,000& 52,000 0 52,000
OXEH Z2|0iSs/2 =8 FHUIAIY
10,000,000& 10,000 0 10,000
OXEH SS0IS32 ARSIEA B3 Al
10,000,000& 10,000 0 10,000
O=EH d-e| =2 EUISA
10,000,000& 10,000 0 10,000
OxEH 22| =2 ZA
10,000,000& 10,000 0 10,000
OXEH H=2 s2EEZ2A
10,000,000& 10,000 0 10,000
OXEH S72l Xgg ZTHIA
10,000,000& 10,000 0 10,000
OxcH gxe| =2 JUISA
15,000,000& 15,000 0 15,000
OxXEH d-e| ot B3 At
15,000,000 15,000 0 15,000
OXEH WML SZ2EEBA
50,000,000& 50,000 0 50,000
OXEH AXE & 012D 4IHEAIY
40,000,000 40,000 0 40,000
OXEH &=2| EEE AX3A
30,000,000 30,000 0 30,000
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